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WEST BENGAL STATE UNIVERSITY 

B.Sc. Honours/Programme 3rd Semester Examination, 2020, held in 2021 

CEMHGEC03T/CEMGCOR03T-CHEMISTRY (GE3/DSC3) 
Time Allotted: 2 Hours  Full Marks: 40 
The figures in the margin indicate marks of question. pািnক সীমার মধ°s সংখ°ািট pেűর মান িনেদ�শ কের।  
Candidates should answer in their own words পরীkাথ�ীেদর িনেজর ভাষায় যথা সmব শbসীমার মেধ° 
and adhere to the word limit as practicable. উtর িদেত হেব। 

All symbols are of usual significance. 

 SECTION-A 

 Answer three questions taking one from each unit 

pেতয্ক ইউিনট �থেক একিট  কের pű িনেয় �মাট িতনিট  pেűর উtর দাও 

 UNIT-I 

1.   (a) Distinguish between reversible and irreversible thermodynamics process. 
তাপগিতিবদয্ায় পরাবতর্ এবং অপরাবতর্ pিkয়ার পাথর্কয্ িনেদর্শ কেরা। 

3

(b) What do you meant by extensive properties and intensive properties in 
thermodynamics? Give example for each. 
তাপ গিতিবদয্ায় পিরমাণগত এবং অবsাগত ধমর্ বলেত কী েবােঝা ? pেতয্কিটর উদাহরণ দাও। 

2+1

(c) One mole of an ideal gas ( RCV 2
3 ) is expanded adiabatically until the 

temperature drops from 20°C to 10°C. Calculate ΔH for this process. 

এক েমাল আদশর্ গয্াস ( RCV 2
3 ) এর তাপমাtা rdতাপীয় সmpসারণ এর ফেল 20°C েথেক 

10°C েত েনেম এেলা। উk পdিতর জনয্ ΔH  িনণর্য় কেরা। 

2

  
2.   (a) Calculate the efficiency of a Carnot engine working between 300°C and 30°C. 

300°C এবং 30°C উŹতার মেধয্ একিট কাণর্ট ইিĂেনর কমর্দkতা িহেসব কেরা। 
2

(b) What is entropy? Write down the statement of second law of thermodynamics. 
এন¹িপ িক ? তাপ গিতিবদয্ার িdতীয় সূtিট িববৃত কেরা। 

1+2

(c) Deduce the relation KTV 1 (Constant) for an adiabatic change of one mole of 
an ideal gas. 

1 েমাল আদশর্ গয্ােসর rdতাপ ঊƤর্মুখী পিরবতর্েনর েkেt KTV 1 (rবক) সmকর্িট উপপাদন 
কেরা। 

3

  

 UNIT-II 

3.   (a) Starting from the general expression of Kc arrive at the expression of Kp for an 
equilibrium established in the gas phase. 
সাধারণভােব িনেদর্িশত গয্াসীয় একিট িবিkয়ার সাময্বsায় Kc সংkাn রািশ েথেক আরm কের Kp -র
রািশ pিতŸা কেরা। 

3
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(b) According to the Le Chatelier Principle what will be the effect of temperature on 
equilibrium for the following reaction. 

 2SO2 (g) + O2 (g) ⇌ 2SO3 (g) + 42 kcal 

িনেচর রাসায়িনক িবিkয়ার জনয্ লা শােতিলয়ার নীিত অনুসাের তাপমাtার pভাব আেলাচনা কেরা। 
 2SO2 (g) + O2 (g) ⇌ 2SO3 (g) + 42 kcal 

2

(c) Under what condition Kp = Kc for a gaseous reaction. 

একিট গয্াসীয় িবিkয়ার েkেt েকান শেতর্ Kp = Kc হয়। 
1

  
4.   (a) The value of Kp at 20°C for the following reaction: 

 2NO (g) + Cl2 ⇌ 2 NOCl (g)  is 1.9×103 atm–1 
Calculate the value of Kc at the same temperature. 
িনmিলিখত িবিkয়ার েkেt 20°C তাপমাtায় Kp হল 1.9×103 atm–1। একই তাপমাtায় Kc িনণর্য়
কেরা। 
 2NO (g) + Cl2 ⇌ 2 NOCl (g) 

3

(b) What is the effect of pressure on equilibrium at constant temperature? 
েকান িনিদর্Ŷ তাপমাtায় িবিkয়ার সাময্বsায় চােপর pভাব আেলাচনা কেরা। 

3

  

 UNIT-III 

5.   (a) Explain buffer action with an example. 
উদাহরণসহ একিট বাফার এর িkয়ােকৗশল আেলাচনা কেরা। 

3

(b) Find out the relation between solubility and solubility product of a sparingly 
soluble salt ‘AB’ type. 
‘AB’ জাতীয় sldাবয্ লবেনর dাবয্তা ও dাবয্তা gণফল এর সmকর্ িনণর্য় কেরা। 

3

  
6.   (a) Aqueous solution of Ferric Chloride is acidic — Explain with equation. 

েফিরক েkারাইড এর জলীয় dবণ আিmক — সমীকরণ সহ বয্াখয্া কেরা। 
3

(b) At 25°C, 1.34% molecules of acetic acid dissociated from 0.1(M) solutions. Find 
out the dissociation constant of acetic acid. 
25°C উŹতায় 0.1(M) অয্ািসিটক অয্ািসেডর একিট dবণ 1.34% আয়িনত হয়। অয্ািসডিটর
আয়নয়ন rবক গণনা  কেরা। 

3

  

 SECTION-B 

 Answer any four questions taking one from each unit 

pেতয্ক ইউিনট �থেক একিট  কের pű িনেয় �মাট চারিট  pেűর উtর দাও 
 UNIT-I 

7.   (a) Write down the reaction mechanism of nitration of benzene. 
েবনিজেনর নাইে¹শন িবিkয়ার িkয়া েকৗশল েলেখা। 

2
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(b) How would you convert benzene to isopropyl benzene? 
েবিĂনেক িকভােব আইেসােpাপাইল েবিĂেন rপাnিরত করেব ? 

2

  
8.   (a) Why high experimental temperature and fuming HNO3 is essential for the second 

nitration of benzene? 
েবনিজেনর িdতীয় নাইে¹শেনর সময় েবিশ তাপমাtা এবং ধূমায়মান HNO3 বয্বহার করা হয় েকন ? 

2

(b) How would you prepare benzophenone from benzene? 
েবিĂন েথেক িকভােব েবেĂােফেনান �তরী করেব ? 

2

  

 UNIT-II 

9. Arrange the following compounds according to their reactivity in aromatic 
nucleophilic substitution reactions and explain. 

অয্ােরােমিটক িনউিkওিফিলক pিতsাপন িবিkয়ার েkেt সিkয়তার kম অনুসাের িনmিলিখত
েযৗগgেলােক সাজাও এবং কারণ বয্াখয্া কেরা। 

    

2+2

  

10. Using phenyl magnesium bromide how would you prepare the following 
compounds? 

িফনাইল ময্াগেনিসয়াম েbামাইড বয্বহার কের িকভােব িনmিলিখত েযৗগgিল pstত করেব ? 
(i) C6H5COCH3           (ii) C6H5COOH 

2+2

  

 UNIT-III 

11. (a) Write notes on any two of the following: 

িনেmর িবষয়gিলর েয-েকােনা dিটর উপর টীকা েলেখাঃ 
(i) Claisen rearrangement 

 েkইেজন পুনগর্ঠন িবিkয়া 
(ii) Pinacol-Pinacolone rearrangement 

 িপনাকল-িপনােকালন পুনগর্ঠন িবিkয়া 
(iii) Reimer-Tiemann reaction. 

 িরমার-িটমান িবিkয়া। 

2 2
1 × 2 = 5

(b) Phenol is soluble in NaOH solution but not in a solution of NaHCO3 — Explain. 

েফনল NaOH dবেণ dাবয্ িকnt NaHCO3 dবেণ dাবয্ নয় — বয্াখয্া কেরা। 
2
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12. (a) Write down the product(s) of the following reactions: 

িনেচর িবিkয়া gিলেত উৎপn পদাথর্ (gিল) েলেখা 

 

2+2

(b) How would you distinguish chemically 1°, 2° and 3°  alcohols? 

রাসায়িনক উপােয় িকভােব 1°, 2° এবং 3° অয্ালেকাহেলর মেধয্ পাথর্কয্ িনrপণ করেব ? 
3

  

 UNIT-IV 

13.  (a) Trimethyl acetaldehyde responds to Cannizzaro reaction but not acetaldehyde
— Explain. 

¹াইিমথাইল অয্ািসটয্ালিডহাইড কয্ািnজােরা িবিkয়ায় সাড়া েদয় িকnt অয্ািসটয্ালিডহাইড েদয় না
—বয্াখয্া কেরা। 

3

(b) Carry out the following conversion with the name of the reaction: 

িবিkয়ার নামসহ িনmিলিখত পিরবতর্ন সংঘিটত কেরাঃ 

 

2

  

14. (a) 2-Butanol responds to haloform test but diethyl ketone does not — Explain. 

2-িবউটানল হয্ােলাফমর্ িবিkয়ায় অংশgহণ কের িকnt ডাই ইথাইল িকেটান কের না — বয্াখয্া কেরা। 
2 2

1

(b) Carry out the following conversion: 
 Acetaldehyde  Acetal 

িনmিলিখত পিরবতর্ন সংঘিটত কেরাঃ 
 অয্ািসটালিডহাইড  অয্ািসটাল 

2 2
1

  

 N.B. : Students have to complete submission of their Answer Scripts through E-mail / Whatsapp to 
their own respective colleges on the same day / date of examination within 1 hour after end 
of exam. University / College authorities will not be held responsible for wrong submission 
(at in proper address). Students are strongly advised not to submit multiple copies of the 
same answer script.  
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